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<pre><code class="highlight-chroma"> <span class="highlight-line" > <span class="highlight

cl"> /**

</span></span><span class="highlight-line"> <span class="highlight-cl"> * X EE
</span></span><span class="highlight-line"> <span class="highlight-cl"> */
</span></span><span class="highlight-line"> <span class="highlight-cl"> List&It;Instance

gt; instancelist = new ArrayList&It;Instance&gt;();

</span></span><span class="highlight-line"><span class="highlight-cl"> /**
</span></span><span class="highlight-line"> <span class="highlight-cl"> * %5z, %
FrESHRIRITHER

</span></span><span class="highlight-line"> <span class="highlight-cl"> */

</span></span></code> </pre>

<p>// Map&lt;String,Feature&gt; featureMap=new HashMap&lt;&gt;();<br>
/**<br>

* BRI EINRE < br>

*/<br>

//Map8&t;String,Integer&gt; featureCountMap=new HashMap&lt;&gt;(); <br>
/**<bl">

* Bt (255l) &<br>

*/<br>

List labels = new ArrayList();<br>

/**<br>

* B MFERERINE <br>

*/<br>

// double[] weight;<br>

Map&ut;String, Weight&gt; weightMap=new HashMap&t;&gt;(); <br>
/¥*<br>

* A EHEZ—HES/OMHE<br>

*/<br>

double learningRate=10;<br>

int C;<br>

Map&ut;String,List&gt; testinstance;<br>

/**<bl’>

* BEAREESE */ List instancelList = new ArrayList();<br>

/**<br>

* EATHIER, REFMESESTHER */// Map featureMap=new HashMap&lt;&gt;(); <br>
/**<br>

* FMFERIHIREL */ //Map featureCountMap=new HashMap&It;&gt;();<br>
/¥*<br>

* B4 (2K5l) & */ List labels = new ArrayList();<br>

/**<br>

* BMFERERIINE */ // double[] weight;<br>

Map&lt;String, Weight&gt; weightMap=new HashMap&lt;&gt;(); <br>

/**<br>
* —ANBHRES—HBZ/PMISAE */ double learningRate=10;<br>
int C;</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
"> *JIEHRE * @param maxit ERARIERIREL

</span></span><span class="highlight-line"> <span class="highlight-cl"> */public void tra
n(int maxlt,String savePath) throws IOException {
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\%

</span></span><span class="highlight-line"> <span class="highlight-cl"
t; empiricalE = new HashMap&t;&gt;(); // FIHIE
</span></span><span class="highlight-line"> <span class="highlight-cl"> Map,Double&gt
modelE = new HashMap&lt;&gt;(); // #=EIHFEE

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> for (Map.Entry
Weight&gt; e:weightMap.entrySet())

</span></span><span class="highlight-line"><span class="highlight-cl">  {
</span></span><span class="highlight-line"> <span class="highlight-cl"> double rati
=(double) e.getValue().getCnt() / instanceList.size();

</span></span><span class="highlight-line"> <span class="highlight-cl"> empiricalE.put(e
getKey(),ratio);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }

Map,Double&

</span></span><span class="highlight-line"> <span class="highlight-cI">  Map,Double&
t; lastWeight=new HashMap&aIt;&gt;();
</span></span> <span class="highlight-line"> <span class="highlight-cl"> for (inti = 0;i &l

; maxlt; ++i)
</span></span><span class="highlight-line"> <span class="highlight-cl">  {

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out.
rintin("iter:" +1i);

</span></span><span class="highlight-line"> <span class="highlight-c|"> computeModeE
modelE);//itEHEEHAEE

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out.print
n("model finish.updating...");

</span></span><span class="highlight-line"> <span class="highlight-cl"> for (Map.Entry,

eight&gt; e:weightMap.entrySet())
</span></span><span class="highlight-line"> <span class="highlight-cl"> {

</span></span><span class="highlight-line"> <span class="highlight-cl"> //lastWei
ht[w] = weight[w];

</span></span> <span class="highlight-line"> <span class="highlight-cl"> lastWeight.put(
.getKey(),e.getValue().getWeight());

</span> </span><span class="highlight-line"> <span class="highlight-cl"> String f=e.getK
y(:

</span></span><span class="highlight-line"> <span class="highlight-c|"> double delta=le
rningRate / C * Math.log(empiricalE.get(f)/ modelE.get(f));

</span></span><span class="highlight-line"> <span class="highlight-cl"> weightMap.get(

).addWeight(delta);
</span></span><span class="highlight-line"> <span class="highlight-c|"> }

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out.
rintIn("saving iter:"+i);

</span></span><span class="highlight-line"> <span class="highlight-c|"> learningRate*=0
</span></span><span class="highlight-line"> <span class="highlight-cl"> learningRate=I
arningRate&lt;10?10:learningRate;

</span></span><span class="highlight-line"> <span class="highlight-c|"> saveParam(sav
Path+"ent_insopt.par”+i);

</span></span><span class="highlight-line"> <span class="highlight-cl"> if (checkConver
ence(lastWeight, weightMap)) break;

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-c|"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl|">
</span></span><span class="highlight-line"> <span class="highlight-cl"> /**
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</span></span><span class="highlight-line"> <span class="highlight-cl"
ram fieldList

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
e&gt;[] predict(Map,Integer&gt; fieldList)

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
= calProb(fieldList);

</span></span><span class="highlight-line"> <span class="highlight-cl"
[] pairResult = new Pair[prob.length];

</span></span><span class="highlight-line"> <span class="highlight-cl"
; prob.length; ++1i)

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
= new Pair, Double&agt;(labels.get(i), problil);

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
It;

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
@param w1

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
i

</span></span><span class="highlight-line"> <span class="highlight-cl"
checkConvergence(Map,Double&gt; w1, Map,Weight&gt; w2)
</span></span><span class="highlight-line"> <span class="highlight-cl"

\% vV V. V \%

\Y

\% \%

VvV Vv

V V V V

vV VvV

\

CRERE

* TSR * @p
* @return

public Pair, Doub

doublel] prob
Pair, Double&gt

for (inti =0;i &I

pairResult[i]

return pairRes

o *

* @param w2
* @return 8

*/public boolean

</span> </span><span class="highlight-line"> <span class="highlight-cl">  System.out.pri
tin("w1 size:"+w1.size());

</span></span><span class="highlight-line"> <span class="highlight-cl"> boolean flag=tr
€

</span></span><span class="highlight-line"><span class="highlight-cl"> for (Map.Entry,
ouble&gt; e1:w1.entrySet())

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> //System.ou
printIn("thread:"+Math.abs(e1.getValue() - w2.get(e1.getKey())) );

</span></span><span class="highlight-line"> <span class="highlight-cl"> if (Math.abs(e1.
etValue() - w2.get(e1.getKey()).getWeight()) &gt;= 1e-4) // Uz8KiR{E0.018] B{TIEEE
</span></span> <span class="highlight-line"> <span class="highlight-cl"> flag=false;
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">  return flag;
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl|">
</span></span><span class="highlight-line"><span class="highlight-c|">
</span></span><span class="highlight-line"> <span class="highlight-cl"> * {+E=ZRIHFE

BIESRAFERSEINET, HHEFHERSRIREEIEE,. * @param modelk ifF=SE), WHS

PEFART (ZFLAAreturn—1"modelERN T EBEE S EATF)
</span></span><span class="highlight-line"> <span class="highlight-cl"
mputeModeE(Map,Double&gt; modelE)

</span></span><span class="highlight-line"><span class="highlight-cl"> {

>

*/public void ¢
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</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
/ instancelist.size();

</span></span><span class="highlight-line"
; instancelist.size(); ++i)
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"><span class="
</span></span><span class="highlight-line"><span class="
&gt; fieldMap = instancelList.get(i).fieldList;//no labels
</span></span><span class="highlight-line"> <span class="
SR FFESEEIAYEEE double[] pro = calProb(fieldMap);
</span></span> <span class="highlight-line"> <span class="
eger&gt; e:fieldMap.entrySet())

</span></span><span class="highlight-line"><span class="
</span></span><span class="highlight-line"> <span class="
eature=e.getKey();/**

</span></span><span class="highlight-line"> <span class="
</span></span> <span class="highlight-line"> <span class="
BRARIEUREL

</span></span><span class="highlight-line"><span class="
</span></span><span class="highlight-line"> <span class="
int maxlt,String savePath) throws IOException {
</span></span><span class="highlight-line"> <span class="

><span class="
><span class="

><span class="

><span class="

highlight-cl"
highlight-cl"

highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”

highlight-cl"
highlight-cl”

highlight-cl”
highlight-cl”

highlight-cl"
highlight-cl”

highlight-cl”

,Double&gt; empiricalE = new HashMap&It;&gt;(); // ZEIHAE

</span></span><span class="highlight-line"> <span class="highlight-cl"
,Double&gt; modelE = new HashMap&lt;&gt;();  // t=ELHAEE
</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
&lt;String, Weight&gt; e:weightMap.entrySet())

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
o=(double) e.getValue().getCnt() / instanceList.size();
</span></span><span class="highlight-line"> <span class="highlight-cl"
put(e.getKey(),ratio);

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
,Double&agt; lastWeight=new HashMap&lt;&agt;();

</span></span><span class="highlight-line"> <span class="highlight-cl"
&lt; maxlt; ++1i)

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
printIn("iter:" +i);

</span></span><span class="highlight-line"> <span class="highlight-cl"
odeE(modelE),// 1T BH=EIHRE

</span></span><span class="highlight-line"> <span class="highlight-cl"
printin("model finish.updating...");

</span></span><span class="highlight-line"> <span class="highlight-cl"
try&lIt;String, Weight&gt; e:weightMap.entrySet())

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"
ght[w] = weight[w];

</span></span><span class="highlight-line"> <span class="highlight-cl"
ht.put(e.getKey(),e.getValue().getWeight());

</span></span><span class="highlight-line"> <span class="highlight-cl"

VvV Vv

\Y

\%

\%

\Y

\%

\%

VvV VvV

vV VvV

\%

\%

modelE.clear();
double rate=1.0

for (inti=0;i &l

{

Map,Intege

/AT EERIER
for (Map.Entry,In

{

String ins

*)l|HRE
* @param maxl

*/

public void train

Map&lt;Strin

Map&lt;Strin

for (Map.Entr

{

}

double rat

empiricalE

Map&lt;Strin

for (inti=0;i

{

System.out
compute

System.out
for (Map.E

{
//lastWe

lastWei

String f
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e.getKey();

</span></span><span class="highlight-line"> <span class="highlight-cl"> double

elta=learningRate / C * Math.log(empiricalE.get(f)/ modelE.get(f));

</span></span><span class="highlight-line"> <span class="highlight-cl"> weight

ap.get(f).addWeight(delta);

</span></span><span class="highlight-line"><span class="highlight-c|"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out
printIn("saving iter:" +i);

</span></span><span class="highlight-line"> <span class="highlight-cl"> learningRa

e*=0.99;

</span></span><span class="highlight-line"> <span class="highlight-cl"> learningRa

e=learningRate&lIt;10?10:learningRate;

</span></span><span class="highlight-line"> <span class="highlight-cl"> saveParam

savePath+"ent_insopt.par"+i);

</span></span><span class="highlight-line"> <span class="highlight-cl"> if (checkC
nvergence(lastWeight, weightMap)) break;

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"><span class="highlight-cl|"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-c|"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> /**
</span></span><span class="highlight-line"> <span class="highlight-cl">  * FG25!
</span></span> <span class="highlight-line"> <span class="highlight-cl"> * @param field
ist

</span></span><span class="highlight-line"> <span class="highlight-cl"> * @return
</span></span><span class="highlight-line"> <span class="highlight-cl">  */
</span></span><span class="highlight-line"> <span class="highlight-c|"> public Pair&lIt;S
ring, Double&gt;[] predict(Map&lt;String,Integer&agt; fieldList)

</span></span><span class="highlight-line"> <span class="highlight-cl"> {
</span></span><span class="highlight-line"> <span class="highlight-cl"> double[] prob
= calProb(fieldList);

</span></span><span class="highlight-line"> <span class="highlight-cl"> Pair&lt;String
Double&agt;[] pairResult = new Pair[prob.length];

</span></span><span class="highlight-line"> <span class="highlight-cl|"> for (inti=0;i
&lt; prob.length; ++i)

</span></span><span class="highlight-line"> <span class="highlight-cl"> {
</span></span><span class="highlight-line"> <span class="highlight-cl"> pairResult[i
= new Pair&lt;String, Double&gt;(labels.get(i), problil);

</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl|">
</span></span><span class="highlight-line"><span class="highlight-cl"> return pairRe
ult;

</span></span><span class="highlight-line"> <span class="highlight-c|"> }
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> /**
</span></span> <span class="highlight-line"> <span class="highlight-cl"> * 1§ &K
</span></span> <span class="highlight-line"> <span class="highlight-cI"> * @param w1
</span></span><span class="highlight-line"> <span class="highlight-cl"> * @param w2
</span></span><span class="highlight-line"> <span class="highlight-cl"> * @return &

Kz

</span></span><span class="highlight-line"> <span class="highlight-cl">  */
</span></span><span class="highlight-line"> <span class="highlight-cl" public boolean
heckConvergence(Map&ult;String,Double&gt; w1, Map&lt;String, Weight&gt; w2)

\%
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</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

ntin("w1 size:"+w1.size());

</span></span><span class="highlight-line"

true;

</span></span><span class="highlight-line"

&lt;String,Double&gt; e1:w1.entrySet())

</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

><span class="highlight-c|"
><span class="highlight-cl"

><span class="highlight-cl”
> <span class="highlight-cl"

><span class="highlight-cl"
><span class="highlight-cl"

ut.printin("thread:"+Math.abs(e1.getValue() - w2.get(e1.getKey())) );

</span></span><span class="highlight-line"
(e1.getValue() - w2.get(e1.getKey()).getWeight()) &gt;= 1e-4)
</span></span><span class="highlight-line"

e

</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

> <span class="highlight-cl"
// WSS IEHE0.01 ] B TAEE
><span class="highlight-c|"

><span class="highlight-cl"
><span class="highlight-cl”
> <span class="highlight-cl"
> <span class="highlight-cl"
><span class="highlight-c|"
><span class="highlight-cl"

BIESRIRHEREAINET, HHERERERREEE .

</span></span><span class="highlight-line"
elE tEfF=SA), NEBLDEFATF (ZFAARreturn—"modelER N T RBES
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

><span class="highlight-cl”

> <span class="highlight-cl"
><span class="highlight-c|"

puteModeE(Map&lt;String,Double&gt; modelE)

</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

1

</span></span><span class="highlight-line"

.0 / instancelList.size();

</span></span><span class="highlight-line"

&lt; instancelist.size(); ++i)

</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

><span class="highlight-cl"
><span class="highlight-cl”

> <span class="highlight-cl"
><span class="highlight-cl"
><span class="highlight-cl”

><span class="highlight-cl"
> <span class="highlight-cl"

ng,Integer&gt; fieldMap = instancelist.get(i).fieldList;//no labels

</span></span><span class="highlight-line"> <span class="highlight-cl"

REAXS BT BRI

</span></span><span class="highlight-line"> <span class="highlight-cl"

o = calProb(fieldMap);

</span></span><span class="highlight-line"> <span class="highlight-cl"

try&lIt;String,Integer&gt; e:fieldMap.entrySet())

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span><span class="highlight-line"> <span class="highlight-cl"

Feature=e.getKey();

</span></span><span class="highlight-line"

.getValue();

</span></span><span class="highlight-line"

= 0; k &lt; labels.size(); k++)

</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

feature=labels.get(k)+":"+insFeature;

</span></span><span class="highlight-line"

><span class="highlight-cl"
><span class="highlight-c|"

><span class="highlight-cl"
><span class="highlight-cl”

> <span class="highlight-cl"

> |

> System.out.pr
> boolean flag
> for (Map.Entr
> {

> //System.
> if (Math.ab
> flag=fal
> }

> return flag;
>}

>

> /**

> *ITEERUERE

>

>
>

>
>

* @param mo

ﬁj‘@f/lj\]??)

public void co

{

modelE.clear(
double rate=
for (inti=0;i
{

Map&ult;Str

/ATEE
double[] p
for (Map.E

{
String in

int cnt=
for (int k

{
String

if (w
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ightMap.containsKey(feature)) {

</span></span><span class="highlight-line"> <span class="highlight-cl">

ble delta=pro[k] * rate*cnt;

</span></span><span class="highlight-line"> <span class="highlight-cl">
delE.put(feature, modelE.containsKey(feature) ? modelE.get(feature) + delta : delta);

</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
ode implements Runnable

</span></span><span class="
</span></span><span class="

highlight-line"
highlight-line"
highlight-line"
highlight-line"
highlight-line"
highlight-line"

highlight-line"
highlight-line"

><span class="
><span class="
><span class="
><span class="
><span class="
><span class="

><span class="
><span class="

highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”

highlight-cl"
highlight-cl"

>

V V. V V

}

do

}
}
}
}

>// public class

>/ A

>//

inkedQueued&lt;Integer&gt; insQueue=new ConcurrentLinkedQueue&lIt;&gt;();
</span></span><span class="highlight-line"> <span class="

=true;

</span></span><span class="
nce&gt; id
</span></span><span class="
addIns(int i)
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
un() {

</span></span><span class="
)

</span></span><span class="
</span></span><span class="
insQueue.poll();
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
AIxiERYRinstanceERYfield
</span></span><span class="
ist SCEIRMFIESIZR
</span></span><span class="
PIETENKAIRIMHEER
</span></span><span class="
</span></span><span class="

highlight-line"
highlight-line"

highlight-line"
highlight-line"
highlight-line"
highlight-line"
highlight-line"
highlight-line"

highlight-line"

highlight-line"
highlight-line"

highlight-line"
highlight-line"
highlight-line"
highlight-line"
highlight-line"

highlight-line"
highlight-line"

highlight-line"
highlight-line"

alProb(Map&lt;String,Integer&gt; fieldList)

</span></span><span class="
</span></span><span class="
ew double[labels.size()];

</span></span><span class="

highlight-line"
highlight-line"

highlight-line"

0; // IENMEERF, CRIEMEZRANT
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}

Concurrent
boolean fla
List&lt;Inst

public void

{

}

@Override
public void

while(fla
{

int ins

}
}

**

* THEpP(y|X) L

* @param field

* @return i%

*/
public double[]

{

double[] p =
double sum
for (inti=0;i

{
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</span></span><span class="highlight-line"
ghtSum = 0;

</span></span><span class="highlight-line"
=labels.get(i);

</span></span><span class="highlight-line"
ield : fieldList.keySet())
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
ature=label+":"+field;
</span></span><span class="highlight-line"> <span class="highlight-cl"
tMap.containsKey(feature)) {

</span></span><span class="highlight-line"> <span class="highlight-cl"

><span class="
><span class="
><span class="

><span class="
><span class="

highlight-cl”
highlight-cl”
highlight-cl”

highlight-cl"
highlight-cl"

Sum += weightMap.get(feature).getWeight()*fieldList.get(field);

</span></span><span class="
</span></span><span class="
</span></span><span class="

m&agt;15)

</span></span><span class="
</span></span><span class="

m=15;

</span></span><span class="
</span></span><span class="
exp(weightSum);

</span></span><span class="
</span></span><span class="

1

</span></span><span class="
</span></span><span class="

printIn();

</span></span><span class="
&lt; p.length; ++i)

</span></span><span class="
</span></span><span class="

</span></span><span class="

isNaN(p[i]))

</span></span><span class="
</span></span><span class="
out.printIn(p[i]);
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
BEFHMIRIRERIIAME
</span></span><span class="
</span></span><span class="
plements Serializable
</span></span><span class="
</span></span><span class="
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) , #1Outdoor
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double we
String labe
for (String

{
String f

if (weig
weigh
}
}
if(weightS

{
weightS

}
p[i] = Math

sum += pli

}
//System.out

for (inti=0;i

{
pli] /= sum

if(Double

{
System

}
}

return p;

[**
* — A RSES

*/

class Instance i

/**
hE==E S
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</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
</span></span><span class="highlight-line"
INEES, @[Sunny, Happy]

</span></span><span class="highlight-line"
</span></span><span class="highlight-line"

><span class="
><span class="
><span class="
><span class="

><span class="
><span class="

[Integer&gt; fieldList = new HashMap&lt;&gt;();
</span></span><span class="highlight-line"> <span class="
</span></span><span class="highlight-line"> <span class="
e(String label, Map&It;String,Integer&gt;fieldList)

</span></span><span class="
</span></span><span class="

label;

</span></span><span class="

= fieldList;

</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="

I

</span></span><span class="
</span></span><span class="
dWeight(double w)

</span></span><span class="
</span></span><span class="

w);

</span></span><span class="
</span></span><span class="

getWeight() {

</span></span><span class="

ht;

</span></span><span class="
</span></span><span class="

dCnt(int ¢)

</span></span><span class="
</span></span><span class="
</span></span><span class="
</span></span><span class="
tWeight(double weight) {

</span></span><span class="

= weight;

</span></span><span class="
</span></span><span class="
</span></span><span class="

Cnt() {

</span></span><span class="
</span></span><span class="
</span></span><span class="
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}

*/
String label;

/**

*SBHRE
*/
Map&lt;Strin

public Instan

this.label =

this.fieldLis

}

/-k*
* FHE(CERE)

*/

class Weight

{

double weigh

int cnt=0;
public void a

{
weight+=
}
public double

return wei

}

public void a

{

cnt+=c¢;
public void s
this.weight
}
public int ge

return cnt;

}
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</span></span><span class="highlight-line"> <span class="highlight-cl"> public void s
tCnt(int cnt) {
</span></span><span class="highlight-line"> <span class="highlight-cl"> this.cnt =

nt;
</span></span><span class="highlight-line"> <span class="highlight-cl"> }

</span></span><span class="highlight-line"><span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> int cnt=e.getVal
e();

</span></span><span class="highlight-line"> <span class="highlight-cl"> for (int k = 0; k

It; labels.size(); k++)
</span></span><span class="highlight-line"> <span class="highlight-cl"> {

</span> </span><span class="highlight-line"> <span class="highlight-cl"> String
eature=labels.get(k)+":"+insFeature;
</span> </span><span class="highlight-line"> <span class="highlight-cl"> if (weightMap.c

ntainsKey(feature)) {
</span></span><span class="highlight-line"> <span class="highlight-cl"> dou
le delta=pro[k] * rate*cnt;

</span></span> <span class="highlight-line"> <span class="highlight-cI"> modelE.put(fea
ure, modelE.containsKey(feature) ? modelE.get(feature) + delta : delta);
</span></span><span class="highlight-line"> <span class="highlight-c|"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-cl"> }
</span></span><span class="highlight-line"> <span class="highlight-c|"> }

</span></span></code></pre>
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